	PHY 105

Homework 7
	Name: ____________________

October 10, 2006


1. The 2.00-kg block has an initial speed of 2.40 m/s as it heads up a track inclined at angle of 15( to the horizontal.  The coefficients of friction between the block and track are (k=0.250 and (s=0.300. 

a. What is the greatest distance x measured along the track that the block reaches? 
b. Does the block stay in that position or does it slide down the track?  Explain your reasoning.  





2. How much force is required to push a 50.0-kg box across the floor if you push at a constant speed of 1.40 m/s and at an angle of 30( with the horizontal.  The coefficients of friction are (s=0.503 and (k=0.473.  If you make any assumptions, you should state them.





3. A car is driving on a level circular track that has a radius of 25 m.  What is the maximum speed if the coefficient of static friction between the tires and the road is 0.80?  At this speed how long does it take the car to go around the track?
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